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Please answer (he following three questions. You can use either Chinese or

English.

1. Compare and contrast Maslow’s hierarchy of needs theory with (a)
Alderfer’s ERG theory and (b} Herzberg’s motivation-hygien theory. (20
points)

2. What characteristics define an effective folower? (10 points)

3. What type of organization structure works best with an innovation strategy?
A cost-minimization strategy? An imitation strategy? (20 points)
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1. Taiwan fiscal policymakers ask to pass a special budget deficit, five
hundred billion NT dollars in five years, in order to steer the economy.
How should policymakers try to raise the economy’s natural rate
of output? How big a problem are government budget deficits?
Discuss. (25%)

2. Consider a situation in which the industrial countries import all their
oil from oil-exporting OPEC countries and where OPEC countries are
compelitive suppliers with a completely inelastic supply curve. What
would be the effect on oil imports, OPEC oil prices, and
industrial-couniry eil prices if all oil-consuming countries place a
$5-per-barrel import tariff on 0il? Which tariff argument might be:
used to support such a tariff on oil imports? (25%)

(Please answer the above two questions in Chinese)

F =ty

£ 5 BAR {price discrimination) .

Lo A3 A AR 7 e 4T 2 B & B 89 BT 2 (10 9)
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Consider an economy with N consumers and one product X. Consumers have
unit demand for product X. Their valuations for product X are either Vior Vi,
with Vi3 > V> 0. The proportion of consumers who have valuation Viisae
(0.1). Suppesc that X can be costless produced by a monopolist M. M sells the
product o refailer R at wholesale price w, and then given w, R sells (he product
to consumers by optimally choosing retail price p.
(1) Suppose M and R have been vertically integrated. What are the optimal
0,97 (5 )
(2) Suppesc M and R are scparale enlilies and the game proceeds in the way
described above. Delermine the equilibrium (w*, »") and compare the total
channel profit here 1o that of part (1). (10 4~}
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I. A study found that the proportion of milk in a piece of
chocolate was positively related to the sale of thal kind of
chocolate. A simple regression using proportion of milk
(measured in %) to predict sale (measured in dollar) found an
unstandardized regression coefficient (b) of .05 and a standardized
regression coefficient (B) of .04. Both coefficients were
significant. (A & 12 &)

a): If you have to explain to someone who does not understand
statistics, what would you say about the meanings of the
coefficienis?

b): What was the size of the correlation between proportion of
milk and sale?

c): Can the above results prove that the sale of chocolate can
be increased by adding more milk to the chocolate? Please
explain your answer briefly.

2. Following the above question, if the proporition of nuts was
added as a second predictor to the regression and its B was .03,
please explain what does this .03 mean. If the proportion of milk
and the proportion of nuts were highly correlated (e.g., r =.80),
would your explanation on the Bs change? Why? (R & 8 %)

3. It is true that Type I and Type II errors always add up to a
constant?  Please briefly explain your answer. (£ & 6 4)

4. An experiment compared the effect of several management
methods upon worker’s performance. Below is its result of
ANOVA. Please answer: a) How many management methods
were compared? b) How many degrees of freedom should be in the
table for Within Groups? c¢) Suppose you do not have any
bypothesis about the differences among the methods, and that you
are only interested in pairwise differences, what analysis will you
do to find out which methods differ? (&8 & 12 )
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Sum of Mean

Squares | df Square F Sig.
Between Groups - 47.821 3 159401 4.005| 018
Within Groups 93.429 3.893
Total 1412501 27

5. The responses to a survey about satisfaction were analyzed.
The questionnaire contajned 14 questions.  The data was
analyzed using factor analysis with VARIMAX rotation of factors.
Below are the results.  Please answer: (i‘\;‘%‘g & 12 5)

a) Is VARIMAX an orthogonal or oblique rotation?

b) Were the below results obtained before or after the rotation?
How do you know?

¢) Try to give a pame for the first factor and explain briefly
why you would choose such a name.

Factor Loadings*

-

- Tam satisfied with the infarmation 1 receive from my superior abaut my job

performance 0.19 013 0.22

2. I receive enaugh information from my supervisor about my job performance 0.14 0.15 0.12
3. [receive enough feedback from my supervisor on how well i'm dofng 0.09 o.n .12
4. There fs enough opportunity in.my job to find out how | am doing 0.29 on 0.15
5. 1 amn satisfied with the variety of activities my job offers 013 0.07 037
6. | am satisfied with the freedom I have to do what 1 want on my job 0.7 0.45 0.14
7. 1am satisfied with the opportunities my job provides me to interact with others 0.18 0.32 0.22 -
8. There is enough variety in my job (A} 0.02 0.12
9. I have enough freedom to do what I want in my job 017 0.46 012
8. My job has enough epportunity for independent thought and action 0.20 0.47 0.06
11, I am satisfied with the oppertunities my job gives me to complete tasks from
beginning to end 0.17 0.21 76 on
12. My job has enough oppertunity to complete the work i start 0.12 0.i0 0.12

13. Tam satisfied with the pay ! receive for my job 0.17 0.14 0.05 051
14. 1 am satisfied with the security my job provides me 0.10 011 015 0.66
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1. Given the joint p.d.f.of ){a'nd Y fixy) = Zexp(-2x-y) fox xy>0. 1%
i) Find the marginal p.d.fs
ii) Check if X and Y are independent.
2. Let X have a binomial distribution of B(n,p). Find the moment generating function
of X, from which derive the mean and the variance of X, 10%
3. mB Xﬁf‘f’-"’rﬁﬁﬁ%%%Wﬁﬁﬁﬁﬁi%‘?ﬁlﬁiﬁﬁ'q‘ﬁl THaREL 15 o R
A 20 B d ki bp el am FFH A AL 80 Hun b (&) eabs.10%
4 BB 1500 A b L% RAE—HE - ERABA W) B 14
#0506 EIEHE BT - 10%

o BABXAB AR FIEH A Feop% 9525 LR P
—ALI2RNEAKE B 13 RIRB Y — BN ke 4
MAR BRBE-mTHEELL 15 RAEX 7,998 - ﬁﬁ;?ﬂ#‘iﬁéii
42.15 128 £ 8. 740 - ERMUEMEASD FMAFERG ISUEHE Y -
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